ab—b—a+ 1& BF27] JI5-EAg 222

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)




2. xX>-94xy-3y E U5ESsHA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)




3.

O x% —y? — 2x + 2y 9] Q1591 A2?

@O x-2

@ x+y+2

@ x+y @x—y
® x-y+2

(x+y)(x=y)

—2(x-

y)=(x+y=-2)(x-y)




= % a® —ab - bc + ac 9] A5E?

® b+c @ a-c ® a+b @a—b ® b-c¢

ala—b) +cla—b) = (a-b)(a+c)
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@ x+1 © x-1 © a+1
® x-2 @ a-1
® 6,0, ® ©,0 ®)O,©, ®
ONENG) ® ©,6,0

a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




= Fad-a*-a+19 147t opd
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D a®+1
© a®-
1 © a+1

® a-
1 @ a*+1

®
1A @24 @34 @44 O g

B 2

a+1l=a*@a-1)-(a-1)
=(a®-1)(a-1)
(a-1)%(a+1)

Gobd o - a? —a+ 19] A5l
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7.

6xy —8x—9y+ 12 = (ax + b)(cy +d) W a+b+c+d 2 TS
T-SFH?

6xy—8x—9y+ 12 = 2x(3y —4) —-3(3y - 4)
=(2x-3)3y-4)
SLa+b+c+d=-2




= T Al FE0NA O, @l ©l-8H 4= E7]oA

+2xy+1yi—1
T g
=(z+y+1)(z+ y—l)j©

B
71 a +2ab+b2 (a+0b)?

“h
(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@eh. oh @ (1, (°h ® (b, (b
@ (%), (7h © 7h, (=)

¥+ 2xy+y? -1
=(x+y)?-1 - a®>+2ab+b*>=(a+b)? °l&
=(x+y+1(x+y-1) - (@ -b*)=(a+b)(a-b)




9. ta dgEs] HENA ol A BF A=Y (Fa>0,b>0)

WAyl dy -1 = - (D2 -y +1)=x - (2y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@)a? - 2ab + b* = (a - b)?
@)a?-b? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

~&B ~

X% —4y? +4y-1

=x>-(H?-4y+1)

=x2-(2y-1)%2 .- [a®>-2ab+b* = (a—-b)?]
=(x+2y-1)(x-2y+1) - [@®*-b*=(a+b)(a-b) ]




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




11, 2 +y?—4-2xy A7t 2 5= Q= A2?
@x—y—Q @ x-y-4 @ x+y-2
@ x-y+4 ® x+y+2

P4y -d-2xy = (x-y)?>-2°
=@x-y+2)(x-y-2)
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okef=t
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> Hehl o
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x2—2xy+y2—9 = (x-y)2-32
=(x-y=3)(x-y+3)
21-1-3+1-14+3=0




13. X% -y +4yz- 4% & ARt HY
(x+ay+bz)(x—y+cz) 7F HATh olw a + b + ¢ 9] 72?2

®-1 @n ® 2 @ 3 ® 4

~&B

=y dyz- 42 =57 - (0 -z +42)
= x? - (y - 22)?
=(x+y—22)(x—y+22)

et a=1,b=-2,¢c=2922 g+ b+c=10|t}.




14. x%y-y-—2+2x2 o] A7} ofd AL29

® x-1 @ x+1
@y-2 © y+2

~&B

(FA) =xy+2x%2-y-2
=x*(y+2)-(r+2)
2

-1y +2)
=@+ )x-1r+2)




15. x? - 9y? + 4x + 12y & QA5EoNSHH (Ax+ By) (Cx+ Dy +4) 7}
Hohar gk A+ B+ C+ D 9 k& Fotoigt

> E.

> ®™eh: 2

(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2




16. 4xy—2x-2y+1 = AFEa0HA (ax+b) (cy +d) @ W, a+b+c+d
o] kg o7

@ 0 OF ® 3 @ 4 ® 6

dxy—2x-2y+1=2x(2y-1)-(2y-1)
— (2v-1)(2y-1)
La+b+c+d=2-14+2-1=2




xy=3y+x-3 & ARt (ax+b)(my+n) S, a+b+m+n
o] k& Foha?

@ 1 @ 2 @0 @ -1 ©® -2

yx=3)+(x-3)=(x-3)(y+1)
La+b+m+n=1-3+1+1=0




18. X+ xy+x+ysE A-EaloH?

@ (x+y)(1-x) @ (x+y)(x-1) @ (x-y)(x+1)
@@+yE+1) O (x-y)x-1)

‘ x(x+y)+ (x+y) = (x+y)(x+1)




19.

a*=3a>—a+3°la ] AF7F1 A A LA Ho=

off, A dpa] o] g LotH?

@® 3(1-a) @ 3(a-2) Nsa- 3
@3(1—1 ©a3_3

webA A QA4 o] e
(a+1)+(a-1)+ (a-




20.

x+a=2 x—a=794 9, P - +a?-a*x =

O 14

@ 20 ® 24 @28

L9

® 32

=x3 + ax® - (a® + a*x)
x*(x+a) —a*(a +x)
(x+a)(x* —a?)
=(x+a)(x+a)(x-a)
= (x+a)(x-a)
=22x7=28




21. a+b=2°]2,a(a-1)-b(b+1) =6 L W, a-b 9] g2 F5IH?

@ 2 @4 ® 6 @ 11 ® 16

B

a?-a-b>-b=6
(a+b)(a-b)—(a+b)=6
(a+b)a-b-1)=6
a-b-1=3

w2t @ - b = 4 o]t}




22. THS % 6 +y—x—ay O] A157} obd ALY

@xg—y @ x-y @ x-1
@ x+1 ® x*-1




23.

ab-2a-2b+4 5 <

@ (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)

® (a+2)(b+2)




24. 2 xy+bx—ay-ab < 14=EoliohH?

D (r-a)y-b) @-a)6+b) O (x+a)y-b)
@ (x+a)(y+b) ® (x=b)(y-a)




25. t& A ax—ay-bx+bys A5RNSIH?

@ (r-y)a-b) ® (x—y)a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)

(F)=a(x-y) - b(x-y) = (x—y)(a—b)




26. X -dxy+4y* -2 & et AREE 1ol
FI2H? (HF, a>0,b>0)

® a®+ 2ab+ b* = (a + b)?
@)a? - 2ab + b? = (a - b)?
@)a? -2 = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

X2 — dxy + 4y? — 22
=(x-2)?%-22>d?>-2ab+b* = (a-b)?
=(x-2y+2)(x—2y—2) >a®>-b?> = (a+b)(a-b)




27.

x? —dx - 9% + 4 & AeESfsted AHE AeEd

Zzet (H, a> 0,6 > 0)

@ acx? + (ad + bc)x + bd = (ax + b)(cx + d)
© x*+(a+b)x+ab= (x+a)(x+b)

© a2 - 2ab+ b2 = (a-b)>

@ a?-b?>=(a+b)(a-Db)

©® a®+ 2ab+ b = (a+ b)?
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X% —4x-9y° + 4

= (x? —4x +4) - 9

(x=2)2 - (3y)?---© a® — 2ab + b* = (a - b)?
=(x-2+3y)(x-2-3y)---@a®-b* = (a+b)(a-b)
=(x+3y-2)(x—3y-2)




28. 4% —6ab + 9b% —36¢2 Q] QAT E 4 Y= ALY

@a—3b—6c @ a+3b-6¢ ® a-6b-3c

@ a+6b-3c ® a+6b+ 3¢

(a-3b)% - (6¢)? = (a—3b+ 6¢)(a - 3b - 60)




29. A 16 — 442 + 4xy —y? 2 QA5 EFSHH?

@ @d-x+y)(d-2x+y) @ (4+2x-y)(d—x-y)
® (4-2x+y)4+2x+y) @(4+2x—y)(4—2x+y)

® (A4+2x+y)(4-2x-y)

42 - (2x-y)?=(4+2x-y)(4-2x+y)




a*-b>-2b-1=a*- (> +2b+1)
=a?—(b+1)?
=(a+b+1)(a-b-1)

et A Fol ge

(@a+b+1)+ (a-b-1) = 2a °Jt}.




31. x*—y® +10yz - 252 = A2 W HEIY (ax+ y + bz)(x -y + ¢2)
7 = Atk olth a - b + ¢ 9] 27

@7 @11 ® 16 @ 32 ® 64

B ‘

x% =y + 10yz — 2522 = x? — (y? — 10yz + 25z?)
= x2 - (y-5z)2
=(x+y-57)(x—y+5z) °|B2
a=1,b=-5,c=5
La—-b+c=11




32. x2-y>+8-16=(A)(B) € W, A+ B = x* 9] 3|5 FolH(H,
x#0)

O x=1 (@)xz? ® x=3 @ x=14 ® x=5

~&B

x% —y2 4+ 8y—16 = x> — (y? — 8y + 16)
=x"-(y-4)?
=@x+y-4)x-y+4)

A+B=(x+y-4)+ (x—y+4) = 2?4

=2 x=0FEEx=2,

Z70A x #0 0| B=, x =2 ©|t},




33.

4y -9 BT A 5o
e ool

> E

I> b=,

(FA) =2 +4xy+ 4% -9

=(x+2y)°-9
=(x+2y+3)(x+2y-3)

(29 +3)+ (x+2y-3) =2x+ 4y




34. 4x® - 24xy + 36y? - 16 = F I} o] Hog
A2}A o] 9F-& ~totof et

[> HEFD 4x-12y

(FA4]) =4(a2 —6xy+9y)—16
=4(x-3y)°>-16
= (2x—6y+4) (2x—6y—4)

(2x—6y+4)+ (2x—6y—4) = 4x— 12y




35. 4x?—dxy+y? +4x-2y B AFEAFAHY (2x - y) (Ax - By + C)
7t =tk A+ B+ C ©] & Foteieh
> =

> HE:. A+B+C=5

B ,

4x2 —dxy+y2 +4x -2y = (2x—y)2 +2(2x - )
=(2x-y) (2x-y+2)

L A=2 B=1,C=2

L A+B+C=5




36. a®—-8a-9b>+16 = A5FE3foA?

@(a+3b-1a-3b-4) @ (a+3b+4)(a-3b-14)
® (a+3b+4)(a+3b-4) @ (a-3b-4)>

® (a+3b+4)(a-3b+4)

(£4]) = a® - 8a + 16 — 9b?
( 4)% - (3b)*
=(a+3b-4)(a-3b-4)




37.

X2 —4y? +6x+9 & AFES) st o, H5}]
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x2—4y2+6x+9:x2+6x+9_4y2
= (x+3)2 -4
=(x+3+2y)(x+3-2y)
L x+3+2y+x+3-2y=2x+6
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a® + 36b% — 12ab - 25 &
A9) gHg Fa?

D a-12b @2a -12b ® 3a-12b
@ 4a-12b ® 5a-12b
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(F4]) = a® - 12ab + 36b* — 25
= (a—6b)2 - 25
= (a—6b+5)(a—6b-5)
. (a=6b+5)+ (a—6b-"5)=2a—12b




39.

o2 3 x%H? - %y - xy? +xy 9 A=Y

@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-0-1)}
=xy(x-1)(y-1)
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40. "5 3 &A= A

5%
rlo

29

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ P(x+1)-4(x+1) = (x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)
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@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@x3+x2+x—|—1:(x2+1)(x+1)
@xy-1-20-1) = -2 -1




42 0% 437+ 0= & AELIARAL (ay- 3x+z)(y+bx+cz)
a

7b = At ofu, A4

D1 @ 2 3)3 @ -1 ® -2

B

-9x% + y% + 6xz — 22

=y% - (9x? — 6xz + 2?)
=y% - (3x—z)?

= [~ (Br-2)} {r+ Bx-2)
=@-3x+2)(y+3x-2)
a=1,b=3,c=-1
La+b+c=3




43. 49x° -9+ ldxy +y* = AFEMFAHY (ax+y +b)(ax+cy +3)
7F =3}, oldl, &4 a, b, ¢ o W5kl a - b+ ¢ O gL& F5HA?

@ 2 @ 4 ® 6 @11 ® 16

B ,

49x2 + 14xy +y* -9 = (Tx +y)? - 32
=(Tx+y+3)(Tx+y-3)

a=T7,b=-3,c=1

La—-b+c=11




44. ab-6a+5b-48 =0
a>0,b>0)

filo
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8 a, b & =M NeE? (H,

@ 17 @ 271 @3711 @ 47 ® 574

~&B )

ab—-6a+5b—-48 =0
b(a+5)—6a—48 =0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>00°2E g4+5>5
(i)a+5=18,b-6=1

a=13,b=7
(i)a+5=9,b-6=2

a=4,b=28
(i)a+5=6,b-6=3

a=1,b=9

S A% a, b O e 370




45.

(FA) =2 —x+y-xPy
:x(xz—l)—y(xz—l)
=(*-1)(x-y)
=@+ -1 (x-y)

Cx+1l+x-14+x-y=3x—-y




46. Hd4 a’x +1

V47 E 5 Qe AL BE NE ALY

H7]
@ x+1 © a+1
© x*+1 ® a-1
® 6,0 ONONE)
@ ©,6e ® 6,0,




1. (1-5) (-2) () (o)1)

sholat,




48. 16 -2 + 4dxy - 4% & A afotH?

@ (x+2y-4)(-x+2y4+4) @ (x-2y+4)°
® (x—2y+4)(x+2y—4) @(x—2y+4)(—x+2y+4)

©® (-x-2y+4)(x+2y+4)

~&B

16— (2~ 4y + 47) =16 - (x- )
= 4% - (x-2y)°
=[44+x-2y)(4-x+2y)




@ a2+ab—|—b2) (aQ—ab—i—bQ)

a +ab+b) az—ab—i—b)

(
@ (a? (
® (a*+ab+1b) (a*>—ab-b
@ (
© (

a+ab+b2) (a—ab+b2)

(EH) = (@ +1%)° - (ab)”

= (a* +b* + ab) (a*® + b* — ab)




50. % -2xz+72-y? & AEalotd?

@ (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)

® (x-y+z)(x-y-2) @ (x+y-z)(x-y+2)

@(X+y—1) (x-y-2)

-+ 2 -y =(x-2)° -y
=@x-z+y)(x-z-y)




